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	Consider triangles NRQ, NSR, NTS, and NUT represented below.
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To the nearest degree, what is the measure of angle TNU?
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The x-intercept of line £ in the Cartesian plane is 5. Iis y-intercept is 10.

What is the slope of line £?

A) -2 C)

N
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A company sells nuts in bulk. The cost of each purchase is determined using
function f described below.
12x ifx<]o,5] Cost
f(x)={10x+10  ifx<[5,15] ®
9x+25  ifxe[15,40]
X mass of the nuts purchased, in kilograms

(x): cost of the nuts, in dollars 5 15 40 Mass
(kg)

A grocer bought nuts from this company. These nuts cost $250.

Whatis the mass of the nuts bought by the grocer?
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Consider triangles NRQ, NSR, NTS and NUT represented below.

To the nearest degree, what is the measure of angle TNU?




